

\*

:

$$\left( S_y^2 \right)$$

$O(n^{-1})$

$Mse$

### On some Ratio and Regression Estimators for the Finite Population Variance in Two Phase Sampling

#### ABSTRACT:

In this paper, we propose a number of families of estimators of ratio and regression to estimate the population variance  $S_y^2$  using auxiliary information in two phase sampling, the bias and the mean square error expression for the above estimators are obtained up to terms of order  $O(n^{-1})$  only and calculate minimizing the  $Mse$  for all estimators and also the generalization of estimators.

1/8 :

/

/

/

\*

2009/ 5/ 19:

2010/

: -1

$y_i$

$x_i$

$S_x^2$

$\bar{X}$

$x_i$

$x_i$

$S_x^2$   $\bar{X}$

$x_i$

$y_i$

$x_i$

(Double ) ( )

(Two-Phase Sampling)

Sampling

(Neyman,1938)

$L$

$N$

$n'$

$x_i$

$n < n'$

$n$

$y_i$

(Srivstava,1967)

(Traat,2001),(Singh,1994) Rao,1990)

"

$$\tilde{Y} = \bar{y} \left( \frac{\bar{x}}{\bar{X}} \right)^a ; \tilde{Y}_r = \bar{y} + b(\bar{x}' - \bar{x}) ; \tilde{Y}_w = \sum_{i=1}^k w_i \bar{y} \left( \frac{\bar{x}_i}{\bar{X}_i} \right)^{\alpha_i}$$

$$\bar{x} = \sum_{i=1}^n x_i / n \qquad \bar{y} = \sum_{i=1}^n y_i / n$$

$$b \qquad \alpha_i ; w_i \quad i = 1, \dots, k$$

$K$

( )

: -2

$N$

$$M = \{1, 2, \dots, N\}$$

$y_i$

$$S_y^2 = \frac{\sum_{i=1}^N (y_i - \bar{Y}_i)^2}{(N-1)}$$

$$S_x^2 = \frac{\sum_{i=1}^N (x_i - \bar{X}_i)^2}{(N-1)}$$

$x_i$

$M$

$$S_x'^2 = \frac{\sum_{s=1}^{n'} (x'_s - \bar{x}')^2}{(n'-1)}$$

$n$

$S_x^2, S_y^2$

$x_i$

$y_i$

: **2-1**

$$S_y^2$$

$x_2$

$x_1$

$$S_{ra}^2 = s_y^2 \frac{s_{x_1}'^2}{s_{x_1}^2} \quad \dots(1)$$

$$S_{lr}^2 = s_y^2 + b (s_{x_1}'^2 - s_{x_1}^2) \quad \dots(2)$$

$$S_w^2 = s_y^2 \left[ w_1 \frac{s_{x_1}'^2}{s_{x_1}^2} + w_2 \frac{s_{x_2}'^2}{s_{x_2}^2} \right] \quad \dots(3)$$

$$w_1 + w_2 = 1$$

$w_2, w_1$

$$S_u^2 = s_y^2 \left( \frac{s_{x_1}'^2}{s_{x_1}^2} \right)^a \quad \dots(4)$$

$a$

$$e_0 = \frac{s_y^2 - S_y^2}{S_y^2}, e_1 = \frac{s_{x_1}^2 - S_{x_1}^2}{S_{x_1}^2}, e_1' = \frac{s_{x_1}'^2 - S_{x_1}^2}{S_{x_1}^2}, e_2 = \frac{s_{x_2}^2 - S_{x_2}^2}{S_{x_2}^2}, e_2' = \frac{s_{x_2}'^2 - S_{x_2}^2}{S_{x_2}^2}$$

$$e_i', i = 1,2 \quad e_i, i = 0,1,2$$

**(Arcos & Rueda, 1997)**

$$E(e_i e_i) = \begin{cases} (\frac{1}{n} - \frac{1}{N})(B_i - 1) & \forall i = i \\ (\frac{1}{n} - \frac{1}{N})(\theta_{ii} - 1) & \forall i \neq i \end{cases}$$

$$E(e'_i e'_i) = \begin{cases} (\frac{1}{n'} - \frac{1}{N})(B_i - 1) & \forall i = i \\ (\frac{1}{n'} - \frac{1}{N})(\theta_{ii} - 1) & \forall i \neq i \end{cases}$$

$$E(e_i e'_i) = (\frac{1}{n} - \frac{1}{N})(\theta_{ii} - 1) \quad \forall i \neq i$$

$$B_i = \frac{\mu_{4,0(i,i)}}{\mu_{2,0(i,i)}^2}, \theta_{ii} = \frac{\mu_{2,2(i,i)}}{\mu_{2,0(i,i)}\mu_{0,2(i,i)}} \quad \forall i \neq i; \quad \mu_{r,s(z,t)} = \frac{\sum_{i=1}^N (z_i - \bar{Z})^r (t_i - \bar{T})^s}{N}$$

: 2-2

$$B(S_*^2)$$

$$n^{-1}$$

$$Mse(S_*^2)$$

(1)

$$S_{ra}^2$$

\*

$$S_{ra}^2 = S_y^2 (1 + e_0)(1 + e'_1)(1 + e_1)^{-1}$$

$$S_{ra}^2$$

$$B(S_{ra}^2) = S_y^2 (\frac{1}{n} - \frac{1}{n'}) [(B_{x_1} - 1) - (\theta_{yx_1} - 1)] \quad \dots (5)$$

$$Mse(S_{ra}^2) = E(S_{ra}^2 - S_y^2)^2$$

$$= S_y^4 \{ (\frac{1}{n} - \frac{1}{N})(B_y - 1) + (\frac{1}{n} - \frac{1}{n'}) [(B_{x_1} - 1) - 2(\theta_{yx_1} - 1)] \} \quad \dots (6)$$

(2)

$$S_{lr}^2$$

\*

b

$$b_0$$

$$b$$

(Cochran, 1977)

$$S_{lr}^2$$

$$\begin{aligned}
 E(S_{lr}^2) &= S_y^2 + b_0 E(s_{x_1}'^2 - s_{x_1}^2) \\
 &= S_y^2 + b_0 E_1 E_2 (s_{x_1}'^2 - s_{x_1}^2) = S_y^2 + b_0 E_1 (s_{x_1}'^2 - s_{x_1}^2) = S_y^2 \\
 &\qquad\qquad\qquad S_{lr}^2 \\
 &\qquad\qquad\qquad b \qquad\qquad\qquad S_y^2 \\
 & S_{lr}^2 \qquad\qquad\qquad \cdot \qquad\qquad\qquad S_{lr}^2 \\
 &\qquad\qquad\qquad \cdot \qquad\qquad\qquad \text{(Cochran, 1977)}
 \end{aligned}$$

$$\begin{aligned}
 Var(S_{lr}^2) &= E_1 Var_2 (S_{lr}^2) + Var_1 E_2 (S_{lr}^2) \\
 E_1 Var_2 (S_{lr}^2) &= (\frac{1}{n} - \frac{1}{n'}) [S_y^4 (B_y - 1) + b_0^2 S_{x_1}^4 (B_{x_1} - 1) - 2b_0 S_y^2 S_{x_1}^2 (\theta_{yx_1} - 1)] \\
 Var_1 E_2 (S_{lr}^2) &= (\frac{1}{n'} - \frac{1}{N}) S_y^2 (B_y - 1) \\
 Var(S_{lr}^2) &= (\frac{1}{n} - \frac{1}{n'}) [S_y^4 (B_y - 1) + b_0^2 S_{x_1}^4 (B_{x_1} - 1) - 2b_0 S_y^2 S_{x_1}^2 (\theta_{yx_1} - 1)] \\
 &\qquad\qquad\qquad + (\frac{1}{n'} - \frac{1}{N}) S_y^2 (B_y - 1) \qquad\qquad\qquad \dots(7) \\
 &\qquad\qquad\qquad S_{lr}^2 \\
 &\qquad\qquad\qquad b_0 \qquad\qquad\qquad b_0 \qquad\qquad\qquad b_0 \qquad\qquad\qquad (7)
 \end{aligned}$$

$$\hat{b}_0 = S_y^2 (\theta_{yx_1} - 1) / S_{x_1}^2 (B_{x_1} - 1) \qquad\qquad\qquad \dots(8)$$

$$\begin{aligned}
 Var(S_{lr}^2)_{min} &= S_y^4 \left\{ (\frac{1}{n} - \frac{1}{n'}) [(B_y - 1) - \frac{(\theta_{yx_1} - 1)^2}{(B_{x_1} - 1)}] + (\frac{1}{n'} - \frac{1}{N}) (B_y - 1) \right\} \dots(9) \\
 &\qquad\qquad\qquad \cdot (9) \qquad\qquad\qquad S_{lr}^2
 \end{aligned}$$

$$\begin{aligned}
 S_w^2 &= S_y^2 (1 - e_0) [w_1 (1 - e_1') (1 + e_1)^{-1} + w_2 (1 - e_2') (1 + e_2)^{-1}] \\
 &\qquad\qquad\qquad (3) \qquad\qquad\qquad S_w^2 \qquad\qquad\qquad *
 \end{aligned}$$

$$B(S_w^2) = S_y^2 \left(\frac{1}{n} - \frac{1}{n'}\right) [w_1(B_{x_1} - 1) + w_2(B_{x_2} - 1) - w_1(\theta_{yx_1} - 1) - w_2(\theta_{yx_2} - 1)] \quad \dots (10)$$

$$\begin{aligned} Mse(S_w^2) &= E(S_w^2 - S_y^2)^2 \\ &= S_y^4 \left\{ \left(\frac{1}{n} - \frac{1}{N}\right)(B_y - 1) + \left(\frac{1}{n} - \frac{1}{n'}\right) [w_1^2(B_{x_1} - 1) + w_2^2(B_{x_2} - 1) - 2w_1 \right. \\ &\quad \left. (\theta_{yx_1} - 1) - 2w_2(\theta_{yx_2} - 1) + 2w_1 w_2(\theta_{x_1 x_2} - 1)] \right\} \quad \dots (11) \end{aligned}$$

$$(11) \quad S_w^2 \quad Mse \quad w_2, w_1$$

$$w_1 + w_2 = 1$$

$$\hat{w}_1 = \frac{(B_{x_2} - 1)(\theta_{yx_1} - 1) - (\theta_{yx_2} - 1)(\theta_{x_1 x_2} - 1)}{(B_{x_1} - 1)(B_{x_2} - 1) - (\theta_{x_1 x_2} - 1)^2} \quad \dots (12)$$

$$\hat{w}_2 = \frac{(B_{x_1} - 1)(\theta_{yx_2} - 1) - (\theta_{yx_1} - 1)(\theta_{x_1 x_2} - 1)}{(B_{x_1} - 1)(B_{x_2} - 1) - (\theta_{x_1 x_2} - 1)^2} \quad \dots (13)$$

$$(11) \quad (13) \quad (12)$$

$$(14)$$

$$S_w^2$$

$$\begin{aligned} Msd(S_w^2)_{\min} &= S_y^2 \left\{ \left(\frac{1}{n} - \frac{1}{N}\right)(B_y - 1) - \left(\frac{1}{n} - \frac{1}{n'}\right) \times \right. \\ &\quad \left. \frac{(B_{x_1} - 1)(\theta_{yx_2} - 1)^2 + (B_{x_2} - 1)(\theta_{yx_1} - 1)^2 - 2(\theta_{yx_1} - 1)(\theta_{yx_2} - 1)(\theta_{x_1 x_2} - 1)}{(B_{x_1} - 1)(B_{x_2} - 1) - (\theta_{x_1 x_2} - 1)^2} \right\} \quad \dots (14) \end{aligned}$$

:

$$(4)$$

$$S_u^2$$

\*

$$S_u^2 = S_y^2 (1 + e_0)(1 + e_1)^a (1 + e_1)^{-a}$$

$$B(S_u^2) = (S_u^2 / 2) \left\{ \left(\frac{1}{n} - \frac{1}{n'}\right) [a^2 (B_{x_1} - 1) - 2a(\theta_{yx_1} - 1)] + \left(\frac{1}{n} - \frac{1}{N}\right) a(B_{x_1} - 1) - \left(\frac{1}{n'} - \frac{1}{N}\right) a(B_{x_1} - 1) \right\} \dots(15)$$

$$Mes(S_u^2) = E(S_u^2 - S_y^2)^2 = S_y^4 \left\{ \left(\frac{1}{n} - \frac{1}{N}\right) (B_y - 1) + \left(\frac{1}{n} - \frac{1}{n'}\right) [a^2 (B_{x_1} - 1) - 2a(\theta_{yx_1} - 1)] \right\} \dots(16)$$

$$\begin{matrix} S_u^2 & Mse \\ S_u^2 & Mse & a \\ a & (16) \end{matrix}$$

$$\hat{a} = \frac{(\theta_{yx_1} - 1)}{(B_{x_1} - 1)} \dots(17)$$

$$(16) \quad (17)$$

$$Mse(S_u^2)_{\min} = S_y^4 \left[ \left(\frac{1}{n} - \frac{1}{N}\right) (B_y - 1) - \left(\frac{1}{n} - \frac{1}{n'}\right) \frac{(\theta_{yx_1} - 1)^2}{(B_{x_1} - 1)} \right] \dots(18)$$

$$\begin{matrix} S_u^2 & S_{ra}^2 & a = 1 \\ S_{ra}^2 & (16) & (15) & S_u^2 \\ a & & (6) & (5) \end{matrix}$$

: 2-3

$$(2) \quad K \quad x_1, x_2, \dots, x_k \quad (4) \quad (3)$$

$$\tilde{S}_{lr}^2 = s_y^2 + \sum_{j=1}^k b_j (s_{x_j}'^2 - s_{x_j}^2)$$

$$\tilde{S}_w^2 = s_y^2 \sum_{j=1}^k w_j \frac{s_{x_j}'^2}{s_{x_j}^2}$$

$$\tilde{S}_u^2 = s_y^2 \prod_{j=1}^k \left( \frac{s_{x_j}'^2}{s_{x_j}^2} \right)^{a_j}$$

	$y$	$s_y^2$
$n'$	$x_j'$	$s_{x_j}'^2, j = 1, 2, \dots, k$
$n$	$x_j$	$s_{x_j}^2, j = 1, 2, \dots, k$
$\sum_{j=1}^k w_j = 1$		$w_1, w_2, \dots, w_k$
		$a_1, a_2, \dots, a_k$

...

: 2-4

$$\begin{aligned}
 & \cdot n^{-1} \\
 & k \times k \qquad A = (a_{ij}) \\
 & \qquad \qquad a_{ij} = (\theta_{x_i x_j} - 1), ij = 1, 2, \dots, k \\
 & 1 \times k \qquad b' = (b_1, b_2, \dots, b_k) \\
 & \qquad \qquad b_j = (\theta_{yx_j} - 1), j = 1, 2, \dots, k \\
 & a' = (a_1, a_2, \dots, a_k) \quad 1 \times k \qquad W' = (w_1, w_2, \dots, w_k) \\
 & 1 \times k \qquad e' = (1, 1, \dots, 1) \quad 1 \times k
 \end{aligned}$$

$\tilde{S}_{lr}^2$

$$b_j = b_{0j}, j = 1, 2, \dots, k$$

$$\begin{aligned}
 E(\tilde{S}_{lr}^2) &= S_y^2 + \sum_{j=1}^k b_{0j} E(s'_{x_j}{}^2 - s_{x_j}^2)^2 = S_y^2 \\
 & \cdot S_y^2 \qquad \tilde{S}_{lr}^2
 \end{aligned}$$

$$\begin{aligned}
 Var(\tilde{S}_{lr}^2) &= E_1 Var_2(\tilde{S}_{lr}^2) + Var_1 E_2(\tilde{S}_{lr}^2) \\
 Var(\tilde{S}_{lr}^2) &= (\frac{1}{n} - \frac{1}{n'}) \{ S_y^4 (B_y - 1) + \sum_{j=1}^k b_{0j}^2 [ S_{x_j}^4 (B_{x_j} - 1) + S_{x'_j}^4 (B_{x'_j} - 1) + 2S_{x_j}^2 S_{x'_j}^2 \\
 & \quad (\theta_{x_j x'_j} - 1) ] - 2 \sum_{j=1}^k b_{0j}^2 S_y^2 S_{x_j}^2 (\theta_{yx_j} - 1) - 2 \sum_{j=1}^k b_{0j}^2 S_y^2 S_{x'_j}^4 (\theta_{yx'_j} - 1) \} + \\
 & \quad (\frac{1}{n'} - \frac{1}{N}) S_y^4 (B_y - 1) \qquad \dots(19)
 \end{aligned}$$

$\tilde{S}_w^2$

(11) (10)

$$B(\tilde{S}_w^2) = S_y^2 \left(\frac{1}{n} - \frac{1}{N}\right) \sum_{j=1}^k w_j [(B_{x_j} - 1) - (\theta_{yx_j} - 1)] \quad \dots(20)$$

$$Mse(\tilde{S}_w^2) = S_y^4 \left\{ \left(\frac{1}{n} - \frac{1}{N}\right) (B_y - 1) + \left(\frac{1}{n} - \frac{1}{n'}\right) \left[ \sum_{i=1}^k \sum_{j=1}^k w_i w_j (\theta_{ix_j} - 1) - 2 \sum_{j=1}^k w_j (\theta_{yx_j} - 1) \right] \right\} \quad \dots(21)$$

$$Mse(\tilde{S}_w^2) = S_y^4 \left\{ \left(\frac{1}{n} - \frac{1}{N}\right) (B_y - 1) + \left(\frac{1}{n} - \frac{1}{n'}\right) [W'AW - 2W'b] \right\} \quad \dots(22)$$

$$W'e = 1 \quad W \quad Mse(\tilde{S}_w^2)$$

$$\hat{W} = A^{-1}b - H A^{-1}e \quad \dots(23)$$

$$H = \frac{b'A^{-1}e - 1}{e'A^{-1}e}$$

$$Mse \quad (22) \quad (23)$$

$\tilde{S}_w^2$

$$Mse(\tilde{S}_w^2)_{\min} = S_y^4 \left\{ \left(\frac{1}{n} - \frac{1}{N}\right) (B_y - 1) + \left(\frac{1}{n} - \frac{1}{n'}\right) [H^2 e'A^{-1}e - b'A^{-1}b] \right\} \quad \dots(24)$$

$\tilde{S}_u^2$

$$(16) \quad (15)$$

$$B(\tilde{S}_u^2) = (S_u^2 / 2) \left\{ \left( \frac{1}{n} - \frac{1}{n'} \right) \left[ \sum_{j=1}^k a_j^2 (B_{x_j} - 1) - 2 \sum_{j=1}^k a_j (\theta_{yx_j} - 1) + \sum_{i \neq j}^k a_i a_j (\theta_{x_i x_j} - 1) \right] \right. \\ \left. + \left( \frac{1}{n} - \frac{1}{N} \right) \sum_{j=1}^k a_j (B_{x_j} - 1) - \left( \frac{1}{n'} - \frac{1}{N} \right) \sum_{j=1}^k a_j (B_{x_j} - 1) \right\} \quad \dots(25)$$

$$Mse(\tilde{S}_a^2) = S_y^4 \left\{ \left( \frac{1}{n} - \frac{1}{N} \right) (B_y - 1) + \left( \frac{1}{n} - \frac{1}{n'} \right) \left[ \sum_{j=1}^k a_j^2 (B_{x_j} - 1) - 2 \sum_{j=1}^k a_j (\theta_{yx_j} - 1) \right. \right. \\ \left. \left. + \sum_{i \neq j}^k a_i a_j (\theta_{x_i x_j} - 1) \right] \right\} \quad \dots(26)$$

(26)

$$Mse(\tilde{S}_u^2) = S_y^4 \left\{ \left( \frac{1}{n} - \frac{1}{N} \right) (B_y - 1) + \left( \frac{1}{n} - \frac{1}{n'} \right) [a'Aa - 2a'b] \right\} \quad \dots(27)$$

*a*

*Mse*

(27)

*Mse*( $\tilde{S}_u^2$ )

*a*

$$\hat{a} = A^{-1}b$$

... (28)

(27)

(28)

$\tilde{S}_u^2$

$$Mse(\tilde{S}_u^2)_{\min} = S_y^4 \left\{ \left( \frac{1}{n} - \frac{1}{N} \right) (B_y - 1) - \left( \frac{1}{n} - \frac{1}{n'} \right) b'A^{-1}b \right\} \quad \dots(29)$$

-3 :

332

(Ahmed,1997)

(1981)

= y

= x<sub>1</sub>= x<sub>2</sub>

(18) (15) (14) (10) (9) (6) (5)

 $PRE(S_*^2)$ 

$$PRE(S_*^2) = \frac{Mse(S_y^2)}{Mse(S_*^2)} \times 100$$

... (30)

(1)

(4) (3) (2) (1)

...

(1)

(2)

(3)

(4)

(5)

(2)

(1)

*Bias PRE(S<sup>2</sup>) Mse(S<sup>2</sup>)<sub>min</sub>*

Estimator	Auxiliary Variables	$Mse(S_*^2)_{min}$	$PRE(S_*^2)$	<i>Bias</i>
$s_y^2$	----	5.232E+10	100.00	0
$S_{ra}^2$	$x_1$	7.203E+10	72.64	43492.70
$S_{ra}^2$	$x_2$	6.618E+10	79.06	35559.10
$S_{lr}^2$	$x_1$	4.231E+10	123.66	0
$S_{lr}^2$	$x_2$	4.229E+10	123.72	0
$S_w^2$	$x_1 \& x_2$	4.229E+10	123.72	1099.19
$S_u^2$	$x_1$	4.231E+10	123.66	81.96
$S_u^2$	$x_2$	4.229E+10	123.72	63.56

$$Bias \quad PRE(S_*^2) \quad Mse(S_*^2)_{min} \quad (2)$$

Estimator	Auxiliary Variables	$Mse(S_*^2)_{min}$	$PRE(S_*^2)$	Bias
$s_y^2$	----	6.99E+10	100.00	0
$S_{ra}^2$	$x_1$	2.88E+11	24.25	55118.12
$S_{ra}^2$	$x_2$	9.34E+10	74.85	45788.18
$S_{lr}^2$	$x_1$	4.88E+10	143.21	0
$S_{lr}^2$	$x_2$	4.72E+10	148.13	0
$S_w^2$	$x_1 \& x_2$	4.67E+10	149.72	2001.22
$S_u^2$	$x_1$	4.88E+10	143.21	55.08
$S_u^2$	$x_2$	4.72E+10	148.13	34.12

: -4

$$S_u^2 \quad S_w^2 \quad S_{lr}^2 \quad (1)$$

$$S_{ra}^2 \quad s_y^2$$

$$S_u^2 \quad S_{lr}^2 \quad (2)$$

$$Var(S_{lr}^2)_{min} - Mse(S_u^2)_{min} = 0$$

b

$$S_u^2$$

$$\begin{matrix}
 & a = 1 & S_u^2 & & S_{ra}^2 & (3) \\
 a & & & S_u^2 & & S_{ra}^2
 \end{matrix}$$

$$\begin{matrix}
 & & & a & & \\
 & S_u^2 & & w_2, w_1 & & \\
 & & & & & (4)
 \end{matrix}$$

$$S_u^2 \quad S_{lr}^2 \quad S_{ra}^2$$

:

- 1) Ahmed, M.C,(1997),The general class of chain estimators for the ratio two means using double sampling, *Commu.Statist-Theory Meth*, 26(9), 2247-2254.
- 2) Arcos, C.A & Ruede, G.M.,(1997),Variance estimation using aux- iliary information an almost unbiased multivariate ratio estimator, *Matrika*,Vol.45,PP.171-178.
- 3) Cochran, W.G.,(1977),Sampling Techniques, third edition. John Wiley & Sons.
- 4) Neyman, J.,(1938),Contribution to theory of sampling human pop- ulation, *Jour.Amer.Stat.Asso*,Vol.33,PP.101-116.
- 5) Rao,J.N.K. & Kovar, J.G.,(1990),On estimating distribution func- tion and quintiles form survey data using auxiliary information, *Biometrika*, Vol.77,2,PP.365-375.
- 6) Singh, M.P.,(1994), Comparison of some ratio cum product estim- ators, *Sankhyā* ,Vol.31,B.PP.375-378.
- 7) Srivastava, S.K.,(1967),An estimator using auxiliary information in sample surveys, *Cal.Stat.Assc*,Vol.16,PP.121-132.
- 8) Traat, Imbi,(2001),Statistical inference in sampling theory, *Theory of Stochastic Processes*, Vol. 7(23),PP.301-316.